INSTRUMENT PROCESSING SHEET

FESLE

FOLE

Agency

B - Cepaga:

S/N

Alcohol Testing Program

Date In Q@Z.@ 7 Date Out 3‘ Dol Uship Op/u OH/D QcMI OEE

Barometric Pressure Gauge ol

Intake performed By( TV ) _ | Quglity Checks Performed By 9y Flow Calibration Performed By
{1, Registration — &'/ Breath Tube Screen Flow Calibration
ﬂ Annual (?//ﬁeplace O-Rings & Flow Ca&ibrat;on‘%@g
Return from CM!} nstrument Set Up Verified FlowColumn#____ ~ i VE Q
{3 Return from Enforcement R-Value 3 si/min- 17
- Electronics E/ Flow Verification {L/s) O 15L/min -~ 53%%? 3 0]
U Other Flow Column # ATP103 i} BOL);E}m 103 6
Visual Inspection: 32mm -19%  (139-.169) | L R-Value
OK_Case % _Handle 36mm _ L1 _(.156-.190) | @ Post Calibration Verl?lclﬂ%f?(b@,\a
Dry Gas Holder .~ Feet 53mm _ *3% (.228-.278) Flow Column # m
4 Keyboard/?lug ._%;,Z Back/Plugs 103mm _, D62 (447 - 547) 32mm (.139-.169)
L Screws tight 07 _ Breath Hose Barometric Pressure Check 36mm (.156 -.190}
. Gauge ID # 3% 53mm (.228 - .278)
Gther Equipment: Stability Checks 103mm {.447 - .547)
3 Power cord Simulator - | Serial # Lot #/Ex};‘- _ - _
3 Prmter Cable,, 0.05 ) (3 - | Maintenance Perfarmed By
& other AYBh( % 5Dlolg 5?;‘;"";;013_ 0 Battery Replacement
0.08 ‘zog(bw 1 Dry Gas Regulator Replacement
SDioH o2j24]210r3] | B Breath Tube Replacement
Notes: 0.20 MCE A J Other
GLH"fq oshial ‘Suggested Service i
0.08DGS | N/A - EIR
ofl23261 %
Optical Bench Calibration . _ ‘performed By 3. | Dep rtment Inspection - .. _Pérformed B
gﬁptical Bench Calibration N/A Barometric Pressure JOL s Gauge
Optical Bench Calibration Complete ID# 5’ Jol - Instrument |

Mouth Alcohol Solution Lot # _cF0 /3 - A

Simulator - | Serial Number | Lot | Explration = .
0.000 DRIZFS | NA N/A Acetone Stock Solution Lot # c?j_?lj" Vi
0.040 5‘)3 "}(&2. |6 '05’ osl1g20n -Stmulator -{ Serial Number
010 | ¢7oF¢ || 500! "Josfzolzoid | e Soiots
0.200 Go’“‘l‘o S/ 5 'OL 21‘ Q‘D!'} 0.05 _50 ol 8
0.400 50.393%% h165 da lol201% | | [o.08 SR
DGS | N/A 1204050kt Oblot f2et | [0:20 G4
8 Post Calibration Stability Checks P
Simulator | Serial Number | Lot Number | Expiration Attdchments = R
0.05 501l 8 |20+ A [§H 2o} ?"/Vorm a1 @/, Optical Bench Cal ¥ 2.
0.08 JDLD\\ Y ﬁ-{‘)w 73 M}un Pre-Stability Tests Post-Stability Tests
0.20 Q ,_} ._’,L, L{ QD# SOM_ » ’u%ﬁ O Flow Calibration 0 other
0.08DGS | N/A AeH ) 2T hei? i}
Notes: (‘%f{& J@E ] cﬁ,ﬂg Ot Do Rrrst ‘ & Instrument Complies with Chapter 11D-8, FAC
@Jjﬁ\' O.C0L . 2% ‘ o Ms/trument Does Not Corply with Chapter 110-8, FAC
Re ~ 75K EB’ Return to/Place into Evidentiary Use -
{ O Kemain Out of EvidentiaryUse ¢ .. :
P Q’ Conduct an Agency lnspection Befcre Ewdentiary Use
R A , RSO
EWUmwibﬁ{MMMﬁ #/%ﬁz
Quality Contrpl Review Date

Revised November 2012
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